“1/GeVA

tbar

Pr

Ratio to ATLAS

[HEN
o
W

107°

1077

0.5

13000 GeV pp

tt
| I T I | T I T I I I | ﬂ
= top 35
— pT (ATLAS semileptonic ttbar) a3
- I
L 1O
—i
L 1N
o
—
— —m
— 1o
=
B >
— ¢ dz
— -1 m
— <
— B ESL)
| o
L — O
(49)
L |
| m ATLAS %
= --d-- Herwig 7.2.1 default 4=
. —4— Pythia 8.308 default 2
- ¢ Sherpa 2.2.5 default H 3
)
- 18
o
(&)
= R —— | S | | "
— -2
u " -
L __ Bl - - sermnnr i _
L 1 R
1
. 9 -
L ¢ ..... Y -
| —0.5
| 1 " 1 " 1 " 1 " | " 1 " 1 1 1 " |
0 500 1000

pt" [GeV], p>*"}in [0,30] [GeV]



	Contents
	Page 1


